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LA HqA HA=H Cigelas | 3UE) | ZHEE | HS
2021-11-01 | ZI X A| & x el AAlo| o2 Fo|2 x|Z(000) 1 50,000 Hg 7|2
2021-11-02 13:13 | X| WM 7RIQ| 3 |M=ES =g 2UET 7het Zu| X2 35 350,000 7tE 7|2
2021-11-03 13:13 || S AA| Q| 3 XM el 2ZtE 3 Zhet du| X2 26 260,000 = 7|2 B2l SES SAI U7
2021-11-04 12:01 |DI M = 2021 W 7H x|2f O EHE HAZIES OF Al X2 11 143,000 7t= INE-:
2021-11-04 18:19 | ZE M| H 2| SFHPE  |eo21v nus ot oizas szzies o 2ul 712 12 96,000 7tE Al zH
2021-11-08 | ZI A A| A x| 2l ZAtol e £o|F X|Z(00) 1 50,000 Hg 7|2
2021-11-09 11:47 |5 A EHQ| 1 20214 Bi4HE X|o Of 2H 3 HITIES) 28 Fu| X F 18 128,000 7tE A| =H
2021-11-09 18:05 [Alff &t = 2| 1 20211 T B0l X|o f 2B F HTIEtsl vra o X2 16 181,000 tE INES:
2021-11-10 12:27 | K| G MU X| 2H= st ols] X AIXI 3| A Xt 2E2b AH| XIS 10 190,000 7tE A ZH
2021-11-12 1230 (K| g M & 2] 3 F2LHO O WHE g2 2a BA = QFZkE Pol X 14 140,700 e A| =H
2021-11-12 18:02 | X| € M 3 & A5, SN HERM Za R | X F 18 180,000 3= 7|2k
2021-11-15 1215 |2 L2 S 20213 B x|of {23 HEEts| 27 Fu| X3 12 84,000 7t NE=:
2021-11-15 17:57 [ 2 ZZH0{ 10| Q] 1 |e021¢ =stet xiof o2 @3l simzietsl oiat Zo| |2 15 180,000 7tE A ZH
2021-11-16 12:19 |22 A CI2| 2 & 2| 1 |20214 S 219 of2 a3 sizzbetsl 28 Hu| X2 12 189,000 7IE INES:!
2021-11-16 1819 | B Ef=LCH 2| 1 2021 MBS X% 02 HF HYIES Bt | 72 15 214,000 7tE INES:!
2021-11-17 | ZI A A| A =gl of Afol| m}2 Ho| 2 A|Z(0 00, 000) 2 100,000 = 7|2
2021-11-17 ZIK| Al A gl ZAjoll 2 %e|Z x|Z(000, 000, 000) 3 150,000 = 7|2k
2021-11-18 19:08 | X| T MU X|BFE= Q| 1 |d=soidsuisl 2zuset 19l 22| eaizds| 112 15 293,000 7tE Al =Y
2021-11-22 1831 [X| H MHIX|2FE  [Amss deaix peds xS(EolyR) 5 122,000 7te (Al
2021-11-24 | ZI X A| & =@l of Alof| wh2 2ol 2 X|Z(0 0 0) 1 50,000 Ha 7|2
2021-11-24 | ZI A A| & =gl ZAlol| 1}E %o|2 xZ(000, 000) 2 100,000 Ha k=
2021-11-24 12:38 [X| H MH}XK|2HE  [Amss o 20X} 2hetzis] X1 2(CBS) 8 183,000 7tE Al =Y
2021-11-25 13:05 [ K| D MHIX| 2= 2| 2|=ue & d==e doraei ool npe 25 Zu| 213 28 499,000 7t= UNE-:
2021-11-26 17:53 | T} 2| H}H| EEH| AR |AZx Saped S22t e 204 79 50 130,000 = Al =H
2021-11-29 | ZI K| A| & =gl of Atofl wh2 22| F X|Z(0 0 0) 1 50,000 Ha 7|2
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U A A FEEE ciaelgls [ 2UE) | 2Ry
2021-11-29 1334 | M S ™ 2| 1 H|433] Z M AFEFSER] CF o] ALS| 2HZH| X| 2 25 250,000 7tE <H
2021-11-30  |Z A A| A x| el HAtol| 2 =2|2 X Z(000) 1 50,000 e =
2021-11-30 14:21 [ A~ EHEH7| Sox|of M3t £ ARIZIEE| 2 A XF 45 720,000 7te x
2021-11-30 17:40 [Molesix|ztzt =24 2| 9 |o|2& ol W ES MEF LA X 2HEtE| XS 14 195,900 7tE




